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#include <stdio.h>

void recursion( int i ){
if (i < 10){
recursion(i+1);
printf ("%d",i);
}
}
int main(void){
recursion(0);
return O;

}
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B%%@E‘I’% #include <stdio.h>
int factorial( int n ){
' int m;
°oll=1 if( n==0 || n==1 ){
| — 11 printf("1");
e 2!=1'x2 return 1;
03':2'X3:(1'X2)X3 Yelseq{
printf("%d *(",n);
m = n * factorial( n-1 );
—RICIE, printf(")");
return m;
}
nl=Mm-1)!xn }

=n—-2)x(n—-1)xn

int main(void){
N= 5;
factorial(N);
return O;
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int fibonacci( int n ){
if ( n==0 ){
return O;
} else if( n == 1){
return 1;
} else {

return fibonacci(n-1)+fibonacci(n-2);

}
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int factorial( int n ){ int factorial( int n ){

int m; int i, m=1;

if( n==0 || n==1 ){
printf("1"); printf("1");
return 1;

Yelseq{ for( i=2; i<=n; i++){
printf("%d *(",n); printf ("*%d",i );
m = n *x factorial( n-1 ); m=m * i;
printf(")"); }
return m; return m;

}



BIRERZEDHI 2
(R > 1chl)

int fibonacci( int n ){
if ( n==0 ){
return O;
} else if( n == 1){
return 1;
} else {
return fibonacci(n-1)+fibonacci(n-2);
}
}
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int fibonacci( int n ){
int i, fn, fnl=1, fn2=0;
if( n==0 ){
return O;
} else if( n == 1){

return 1;
} else {
for( i=2; i<=n;i++){
fn=fnil+fn2; fn2=fni; fnl=fn;
}

return fn;



B [ R

7 71 )L4: combination.c

o BB nEADEYNS r MOEHZID HITHAELEDE ,C, =
K& ZEEE combination Z1EN. 7272 L, ,,C, IFIATD LS ICEE
INd3HNDET 3,

wCr =p—1 Cp—1 +n—1 Cr; nCo =n Cp = 1, nCi=n

o RNIIUTDLSICELK.

Input n : 20
Input r : 3
20 C 3 = 1140 )




=B

#include <stdio.h>

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r) ;

printf(" %d C %d =%d \n",n,r,combination(n,r));

>

return O;
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#include <stdio.h>

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r) ;

printf(" %d C %d =%d \n",n,r,combination(n,r));

>

return O;
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#include <stdio.h>

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r) ;

printf(" %d C %d =%d \n",n,r,combination(n,r));

3

return O;
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#include <stdio.h>
int combination(int n, int r){
}

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r) ;

printf(" %d C %d =%d \n",n,r,combination(n,r));

return 0O;
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#include <stdio.h>
int combination(int n, int r){
if (r==0| |r==n){ // nCO = nCn = 1
return 1;
}
}

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r);

printf(" %d C %d =%d \n",n,r,combination(n,r));

return 0O;
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#include <stdio.h>

int combination(int n, int r){
if (r==0| |r==n){ // nCO = nCn = 1
return 1;

}
if (r==1){ // nCl =n
return n;
}
}

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r);

printf(" %d C %d =%d \n",n,r,combination(n,r));

return 0O;
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#include <stdio.h>

int combination(int n, int r){
if (r==0| |r==n){ // nCO = nCn = 1
return 1;

}

if (r==1){ // nCl =n
return n;

}

return combination(n-1,r-1)+combination(n-1,r);

}

int main(void){
int n, r;

printf("Input n : ");
scanf ("%d",&n) ;

printf("Input r : ");
scanf ("%d",&r);

printf(" %d C %d =%d \n",n,r,combination(n,r));

return 0O;
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